Pre-Calculus - Honors Lesson 15
Worksheet #15 Answers
1) V2x = 10. 2)V6 - x =3 3)32x + 5 = -3
2x = 100 b-x=9 2x + 5 = -27
x = 50 -x = 4 2x = -32
ch: V2(50) - 10 = 0 = -4 = -16
V100 -10=0 ch:iV6 - (-4)-3:=0 ch: 322(-16) +5+3 =0
0=0v V9-3=0 327 +3:=0
0=0Vv -3+3=0
0=0v
4)3%\3x+1=5 B)x+5=x-5
3x+1=125 0=0
3x = 124 x={}
x = 124/3
ch: 3V3(124/3) +1 -5=0
3Vi25 -5=0
0=0v
6) Vx - 20 = 10 - Vx 7)3x+2=7 | 3x+2=-7
x - 20 = 100 - 20Vx + x 3x =5 3x = -9
-20 = 100 - 20Vx x = 5/3 = -3
-120 = -20Vx ch: |3(5/3) + 2| =7 | |3(-3) + 2| = -7
6 = Vx 5+2 =7 -9 + 2] = -7
36 = x 7=7 7% -7
ch: V(36) + V(36) - 20 = 10 x = {5/3)
6+4:=10
10 = 10

8)x=x*+x-3]-x=x*+x-3

9) decreases: -« < x < -1

0=x*-3 O0=x>+2x-3 increases: -1 < x < 4
3=x° (x+3)}x-1)=0
x=+13 x = {-3, 1} 10) increases: - < x < 1
ch: V3] =3+3-3
V3=13
|-\3] =3-+3-3
V3 = -\3
|-31=9-3-3 J1|=1+1-3
3=3 1--1



